8 7 6 | 5 %7 4 3 | 2 1

Components/Parts List Dimensions
€

Included
Hardware
| Parts List
ITEM NO. PartNo DESCRIPTION QTy
1 T-RDV46-T 46" Round Expanded Top 1
2 P-V358-L 358 Vinyl Leg L 3
| 3 P-V358-R 358 Vinyl LegR 3
: 4 P-V358H-R 358 Vinyl Leg RH 1
51 6_" .5 i 5 P-V358H-L 358 Vinyl Leg LH 1
Machine Bolt 6 33-02-0007 5/16" Flat Washer (SS) 64 415/8" ——=
7 33-05-0029 5/16" x 1" Machine Bolt (55) 32 70 3/4"
/ \ 8 33-03-0012 5/16" Kep Nut (5S) 32
i \ 9 P-01-04-0121 358 Extension Tab 4
\ / 10 P-01-04-0122 358 Crossbrace wl Umbrella Tube 1
11 T-V36RD-8 3' Expanded Round Seat 3
5/16" Washer .
Tools Required
30 1/8°
@ 18 5/16"
1/2" Wrench
5f16" Kep Nut 1/2" Socket Wrench| Tape Measure

WARRANTY: OCCOutdoors, Inc. guarantees all items for one full year to be free of defects in workmanship or materials when installed and maintained properly. We agree to repair or replace, any items determined to be
defective. Items specifically not covered by this warranty include vandalism, manmade or natural disasters, lack of maintenance, normal weathering or wear and tear due to public abuse.

NOTES
| INSTALLATION TO BE COMPLETED IN ACCORDANCE WITH MANUFACTURER'S SPECIFICATIONS. OCC Outdoors Products
2 ALL DIMCNSIONS APC CONSIDCPLD TPUL AND PCTLLCT MANUFACTUPCP’S SPLCITICATIONS PH: 1.800-821.7670 OCC Outdoors OCC-358H-RDV

3. DO NOI SCALE DRAWING.
EMAIL - occcontact@occoutdoors.com 46" Round ADA Accessible Picnic
This document contains OCC Outdoors Proprietary Information. No intellectual copyright or Fax: 1-317-862-9422 .

license is granted by OCC Outdoors in connection with it. It is delivered on the express condition Table with 3 Seats, Portable and/or

that the document and the information conFaln.ed. in it shall be‘ treated as conﬁdentlaI, shall not be Part #: OCC-358H-RDV Surface Mount with Diamond
used for and purpose other than that for which it is hereby delivered (the use and maintenance of . Pattern Seats & T op

the product supplied). It shall not be disclosed in whole or part to third parties and shall not be P 1 of )

duplicated in any manner without OCC Outdoors's prior approval. Date: 04/04/17 agelot3

8 I 7 I 6 I 5 Y 4 | 3 2 1




Assembly Instructions

Step 2

Step 1:

Attach the 358 Legs to the Extension
Tabs using specified Hardware

Attach the Extension Tabs to the 46"

fied hardware.

ing speci

Round Top us

m———
i

o

o

Lo

o
s oo

SR
o’

n S

2
CrTT

AN
A o

praT
o

Step 4

Step 3:

fied

ing speci

Attach the Seats to the 358 Legs us

hardware.

Attach the Cross-brace between the table
legs as shown using the specified

hardware.

1-800-821-7670 EMAIL - occcontact@occoutdoors.com

Page 2 of 3 OCC Outdoors Products PH

OCC-358H-RDV

1-317-862-9422 Part #:

Fax

—_




i

TTH6-798-L1€-1 :XE WO SI0O0PINO0II0M)IOLIU0II0 - T[VINE
0L9L-178-008-1 ‘Hd Snpoid s100pinQ DD0 ¢ Jo ¢ 95ed

JLIHA
MY IE ILIVH ATHD HHwa Iddnd AOTTIA
i I I
Aea [ILM S]UATHS[R [E}UATHIOALATE [IJULIEY
woay norgaalodd jo s1aiey sapraoad ssacoxd o
T e S T SR "L HIv1E NAWORE a3y ana
‘qemuy 1800 2psod dowadn: e Furipdde Aq
AJIqEInp 23 S20UEYUR I3YLINY T)7)() "ESURECD
aanjoeload a[qEinp 1=ow £ ArjEnpur ay3 jo auo
g1aAT[ap 2ul] sonposd 1e0T) Iapmog El00ping
EDLIEE] EElala] AQNMSDENg INa ¥d.Lmn

00 243 Ul p2Eh JI0MITIEL] [223E 3y ],

ST ——
YEIJ PUE 1007y JEO0T) I3pmod SI00PIT) 300 - I

100 H3aMm0d

SINILYGD

YSTUT] JATIIRINY » el

Anpenb-ydipy .

{ SNILYOD
i b e B NOISHIANOD
Furreod WLIOjU] . J3INYHNI

sanzadoa J 1807 I9pmo]
=48] ¢ 2200PING )

JHIZ 3dNd % G666

13315 dIWH 4 10D

wvmuhvm—ﬁham UStuiq jeo)) 1opmMmod sioopinQ D00

HIV1E NMOHE a3d

AlpuaLL] A[[EIUUUOIATY «
WO A[] «

pasreday Apsery .

MAP[IY pue

PIOJA SIU3A3] YsiuL] [Poowg «
sdua(y 10 suny op « NEERL) AQNNSENE M a wd.Ln
WS[EPUEA, PUE SULIng 0] 90UZSIEY «

uosaypy aouadng .

ganptados g yemur g pue
g10(0n) ansepdomitat] [, e100pIng 590

sanaddoad ystur snsejdouwrady , stoopinQ DDO




	OCC-358H-RDV Specifications_Installation Instructions
	Cut_Sheet_Template
	2nd. Page Template

	Thermoplastic and powder coat colors and properties



